Answers to Selected Exercises AA27

Section 2.8

Check Point Exercises
150135 W (4,—%) 3.2+y*=16 4 2+ (y+6)>=100
5. a. center:(—3,1); radius: 2 6. (x+2P2+(y—2P=9

b.

F+3+(-Di=4

¢. domain: [—5, —1]
range:[—1,3]

Exercise Set 2.8
L13 2.5 3.2V29~1077 4 V73~854 55 65 7.VH=~539 82VI0~632 9 4V2 ~ 5.66
10. VAT ~ 640 11 2V5~447 12.5V2=~707 13.2V2=~283 14.3 15 Vo3 =964 16, V123 = 11.09

17. V53=224 18. V2 =14l 19. (4,6) 20. (6,5) 2L (—4,-5) 2 (" % —5) 23. (g —6) 24 (-—5.-;-) 25 (=5=2)

2. (—3. l) 27. (1L5VE) 28 (5V3,—4) 29.(2V3,0) 30.(3VZ0) 3L+ =49 3R+ =64

510
B(x-3P+(—-2P=25 M (x-2F+(y+1)P=16 35 (x+ 12 +(y-4)72=4 36 (x+32+(y-57°=9
3. (x+3P%+(y+1)=3 38, (x+ 5P+ (y+3)7= 39. (x+4)72+*=100 40. (x +2)* + ' =36
41. center: (0,0) 42, center: (0, 0) 43. center:(3,1) 44, center:(2,3) 45, center:(—3,2)
radius: 4 radius: 7 radius: 6 radius: 4 radius: 2
domain: [ —4,4] domain: [—7, 7] domain: [—3, 9] domain: [—2, 6] domain: [-5, —1]
range: [ —4,4] range:[—7,7] range: [—5,7] range:[—1,7] range: [0, 4]

-3+ (- 1= -2+ -3P=16 @+ (-2 =4
~ 46. center: (—1,4) 47. center: (-2, —-2) 48. center: (—4, —5) 49, center:(0,1) 50. center:(0,2)
radius: 5 radius: 2 radius: 6 radius: 1 radius: 2
domain: [ —6, 4] domain: [—4, 0] domain: [—10, 2] domain: [—1,1] domain: [ -2, 2]
range: [—1,9] range: [—4,0] range: [—11,1] range: [0, 2] range: [0, 4]

mmaa: 5| unSsEnEsEEEE EamunmEw C i
. x+ 1P +(y -4 =28 G+ +(y+27=4 (44 +(y+5' =36 S+y-1ni=1
. 51, center:(=1,0) 52, center: (-2,0) 53 (x +3P+(y+1)72=4 54 (x+4)>+(y+2)72=4
| radius: S radius: 4 center: (=3, —1) center: (—4, =2)
domain: [—6, 4] domain: [—6, 2] radius: 2 radius: 2
range: [ -5, 5] range: [—4, 4] ¥
5 2 ! 1 | _:
-3 ~ 3;1
S
HHHH SmumEEaEEN
; SEEREERaEEy = | Pyt +2y+6=0 Py +lr+dy+16=0
. G+ =28 (x+27+y =16
£S5, (x -5 +(y—3)2=64 56.(x—2+(y—6)2=49 SL(x+4P+(y—1*=25 S8 (x+6)*+(y—3)=49
center: (5, 3) center: (2, 6) center: (—4,1) center: (—6, 3)
radius: 8 radius: 7 radius: 5 radius: 7
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AA28 Answers to Selected Exercises

59, (x— 12+ =16 60. X+ (y—3)P =

center: (1, 0) center: (0, 3)

radius: 4

radius: 4

J:-+J; +hr=-2y=-1=0 ;11.y31-3g1-5y +-% =10

67. {(0.-4), (4,0} {0.-3).3,0)}

t+yl=9
r=-y=3 J’T

71. 2693 mi 72. 328 miles
83. 6

73 (x + 24P+ (y +27)P =
84. 9
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-12
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. +x o9+
95. a. Distance between (xy, y,) and (xl—x- ——

2 2
X +x 2
=\/(12._x1)+(5’12}’2_yl)
=\/(x1+xz—2x1)3+(y1+yz—2y1)2
2 2
=\/(12—x1)2+(y2-—y,)2
2 2

/xl = lexz +xi + Y- 2y + .\’12

4
\/xl 211x2 )f

VT |
=\j(x1+x" 2 (}’1+}’2 Zyzz)
EE )

2 2 2
= Distance between (x5, y,) and (%‘ » er )‘2)

)

L Lo

center: (
1

d =
radius: 5

PHy-x+y+1=0 ,,.',,_'v:.,,x,,_"._%:o

b. V5
b. V2

65. a. (5,10)
66. a. (4,5)

c (.1'—5) (l“lO) =
¢ (x — 4)? +(’»—i)'—2

69. {(0, -3).(2, -1)}

-2+ (y+3)1=4,
y=x-3

70. {(0, —1), (3.2)}

=32+ (y+1)i= 0_,.
y=x-1 T

1th

74. 2 + (y — 82)% = 4624
85. 86. makes sense
87. makes sense

88. does not make sense

12

—18 . - 18 89, makes sense
'\.__,_/ 90. false 91. false
92, false 93. false
12 94, 2V2 +3V2 =5V2
X=X\ Y2—-n\ X=X\ ¥i = £
woCo A (oA F (e e

n-x\ 2~
= = S LAl el
\/( 2 )+( 2

5 [ = x)* + (s = 1P
4

;

X3 — -"t)i + (32— n)?

1

= Distance from (x, y;) to (xa, y5)
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